WO dUIuoOn)I MM/ dny

http://www.rtuonline.com

ACCOUNTING AND FINANCE
Paper -1 (Cost Accounting)
Time Allowed : Three Hours Maximum Marks: 100
Part - A (F—3) (Marks : 20)

T 9 99 1 AfEE B 1 9T & SR 20 ST A ftye 761 2 =@ilee |
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- Part - B (71-) (Marks : 20)
| g e PR | YT & SR 50 TET A i T8 2 Iifee | Wy
D AP A B '

Part - C (A7) (Marks : 60)
g% TP W TH U T 50, T 9 9T DT | 91 & TR 400 ¥R
J ity T8 B iRy | Wl WAl & o T €1
Part - A (FF1-31)

1 What do you understand by costing? URae W 3 41 T &7

2. What is meant by labour turnover? 59 J1ad 3 @1 Iy &7

3. What is meant by overheads? SIR=Id ¥ 1 3G &7

4.~ By what other name non-integral system of accounting is known?
IR—ammfer o Rty 3 g 5 R A ST S 57

5. Give any two characteristics of Integrated Accounting System.
v die Tgh B 2 R T

6. Explain two reasons for difference in profit as per cost books and
financial books.
AT orel vd R g veRia el ¥ SR @ B e SR S |

7. What is operating costing method? :
oferer ara ek Ry 71 87

8. What is Bin Card? 1 &€ T 87

9, What is abnormal wastage? SRR &4 &1 &7

10. Which autonomous body was established for development of cost

accounting at first time in India and in which year it was formed?
ader ARG 3 AT e @ Rem v B9 AR N e e
& T 57
Part- B (7-39)
11. Wages rate Rs. 3 per hour, standard time 6 hours and actual time
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taken 4 hours. Ascertain the amount of bonus and total amount of
wages earned under Rowan Plan.

RS R %. 3 yRraver, yag w9y 6 gue, IS JPa T 4
U | 5 T B IMUR G NG A B St S o R vd g
RHAS ST aRebem Hifvrg)

From the following information, compute machine hour rate in respect
of machine A for the month of January, 2012.

Frfeed s & R A @ w3 el 2012%1%113143?!:1 '
U X IF el

Cost of machine

Rs. 6,000

Estimated scrap value

Rs. 1,000 |

Effective working life

hours 5,000

Hours worked in January, 2012

100

Estimated cost of repairs and maintenance over the

" life of machine.
Rs. 1,250

Standing charges allocated to this machine for January, 2012 Rs. 50,
power used by the machine 10 units per hour at a cost of 10 paise per

Unit.
A g o) 39 99F )X oFaY, 2012 ¥ . 50 B WA gRT

o SR 10 PR IR 10 N AR IIMA M TA Y

Prepare abnormal effective account from the following :
Transfer from first process 1,000 units @ Rs. 9 per unit
Rs.

Material used

13,000

Labour

3,750

Overhead (factory)

. 1,500

Actual output
920 units
Normal loss 10% of input sold at Rs. 2.50 per unit

S ifrg Rl ¥ MY T949 S AR DI ¢
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' What are the objects of a
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TeT S Q TAIRA 1,000 THIRAT X 9 . R 9 ¢

w.
YYad e
13,000

L

3,750
JIRY (baw))
1,500
IRAAD IR
920 FIIFA! . .
T i 31l T 3l 51 10 A ©. 2.50 9T T

971 4T
What is Memorandum Reconciliation Account?

R G @ 27
Give two characteristics of Non-Integrated Accounts.
Aearhira oral Bt 31 Rdarsli @1 quT BT |
Part - C (FY)
Unit-I@%1)
good costing system? How does it help the

top management in controlling various costs?

"wawmmmﬁﬁmw%?mmwﬂamﬁﬁa

ATl OX i B 3 5 TPR WERP BN &7
OR
The following is the account of receipts and issues of an item of

stores for the month of October, 2012:

e AT}, 2012 3 fore WA & TP T B A IR A B
faRoT 9 YBRN & . .

October 1, 2012 Received 100 Units @ Rs. 6 per unit
October 5, 2012 Received 200 Units @ Rs. 7.50 per unit

Issued 150 Units
Received 100 Units @ Rs. 8 per unit

October 15,2012 Waste (as reported by store verifier) 10 units
October 20, 2012 Received 200 Units @ Rs. 10.04 per unit

October 25,2012 Issued 250 unit

October 10,2012
October 13, 2012

~ Prepare Stores Ledger:

WO dUI[uoOn)I MM/ dny

http://www.rtuonline.com



http://www.rtuonline.com

el o L A ——
'« (1) Charging waste as overhead,
(i) Inflating the price of remaining material on account waste.
Materials are gharged (o production depariment on the basis
. of weighted average price. '

(i) BIod @1 SIReg & w4 ¥ 9 Y g,

Gi)y  Sor Y A A B I TGN §T ST AR TR Al
¥ gprll SaEA far &1 R da fafr @ smER W
ot S SR el

Unit - I (3F-2)

The Manager of a Cooler Manufacturing concern consults you as
Cost Accountant as to the minimum price at which he can sell coolers
of the concern which are intended for mass production in future. The
concern's records show the following particulars for the year:
W@?Wﬂmﬂwmwm%mﬁw
Wq@iﬁﬂﬁﬁWW%mWaﬂW%ﬁﬁ?aﬁﬁl
Afasg 3 9 FEARI B IGA Siferp S G DI ren | e & @l
¥ T a6 & T 3§ Preafiied gEe W< §8:

Production and Sales : 500 Coelers Amnunt
Materials . 1,20,000
Direct Wages 60,900
Direct Charges 10,000
Works overhead 70,000
Office overhead 28,000
Selling overhead 32,000
Profit 48,000 -

ain that 50% of the works overhead fluctuate directl
and 60% of the selling overhead fluctuate with
sales. It is anticipated (yat the concern would produce 2,500 Coolers
annum and that direct Wages per unit be reduced by 20% wh_lle
fixed works overheads charges will increase by Rs. 30,000. Office
overhead and fixed selliig overhead charges arc expected to show

: o eed,
i e of 25% but otherw1se no changes are anticipa .
. for submission to the Manager of the concerm if

You ascert

Prepare 2 statement et year
5 percentage of profit is desired as 111 .
gt i gfyerq 99T @ WY

ﬂxﬁiaaan—aam%am !
:{a:;m.ﬁmtma sgaE & fo el 2,500@;»11?'«513[%
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SARA BN AR 9 FHE Te Al 20 YRR ¥ ue S,
S T REHT SIRT ©. 30,000 ¥ I | Pl SaRem
o1 ¥R e SuRegy A 25 R 1 gig o1 IgHA ¥ 36D
AN 3 PrS URETH B D FEHEA T8 |
e A ¢ 6 o 1 98 wRieid ied & S & ey 3§ oy R 4,
e & FoR @ Wil F @ T 1@ faaRu-us TR A
OR
At the end of a year, a Contract Account stands debited with the cost
of materials issued, labour and overheads expended and plant issued,
and it stands credited with materials at site Rs. 2,000 and plant at site
revalued at Rs. 8,000 after charging depreciation at 20%. The net
cost of the contract is Rs. 30,000 the materials, labour and overheads
debited to the ‘Contract Account’ are in the ratioof 3:2: 1.
The contract price is Rs. 50,000. 4/5 of the Contract has been certified
by the contractee's architect as completed, amonth before the end of
the year and 80% of the certified work value has been received in
cash. The accountant informs that 2/3 of the profit on cash basis
credited to profit and loss account on the contract is Rs. 8,000.
Prepare in full the Contract Account showing the cost of work done
but uncertified, and the Work-in-Progress from the above
information.

v a8 & o o o@ @ Frifw el @ 6 ™ s a
SRl qan frifaa e & A | SRe fian gen § 9ur 38 @
<Ie G R 6. 2,000 99T W TR @ive S {6 20 FioR T
M T X @ 9¥ER W, 8,000 W gR{cuifea fea T ', 9
Sfee fr go ¥ 1 T 3 B g AT 6. 30,000 §1 W T B
e A T GrEl, #9 9 SuRe 3:2:1 @ U A 2|
301 5. 50,000 ¥ B 37 q 1 7R T S B Riewon
A3 D B 4/5 T qut fban g ST @Y R & qer wl
mé-wmsommmaw%lmﬁwm%
5 39 3 R AP IER W &9 3 2/3 HRT S AT @R DI
Sfee frar 1 ¥, . 8,000 Bl
wm@mmmﬁmmgqu
WE’EHIETHIHQJTW&L—WWWWI

Unit - I (Z31%-3)

' What is Integrated Accounting? State its advantages.
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TG G 39T 57 39 oW 9aizd |
OR
Product A'yields by-products X and Y, the joint and subsequent

expenses of manufacture were as follows:

A BT B SR uipar A X g Y oy Saci o fror 8 & Ry
mﬁaaﬂ‘gaﬁwma%ﬁmmﬁmﬁm‘a

Joint Epenses or Subsequent expenses or
Pre-separation cost Post acquisition cost

A X Y
: Rs. Rs. Rs. Rs.
Materials 1,12,000 40,000 25,000 13,000
Labour 80,000 42,000 30,000 12,000
Overheads 90,000 44,000 20,000 10,000
2,82,000 1,26,000 75,000 35,000
Selling Pirce 5,10,000 2,10,000 1,00,000
Estimated profit on selling price 40% 30% 20%

Show the manner in which price the joint expenses of manufacture
are apportioned between the three products.

A1 SR ¥ wga fwior wE o mmﬂgﬁraﬂﬁrmuaﬁh
DT | http ://www.rtuonline.com

http://www.rtuonline.com



